EARAROBREBRT —5 XN—ZXBISH—F

2021F98308 (A 13EPI5I3H

B3I FC4—6 C4 HSH—B \ (XR] 7 \ (el - | 9 (65) 10000 FE
[xE&] 1% :300,000H  2&:84,000H 3% :63,000H ./ 43%&:42,000M . 53&:21,000 3
B RS RS R HE B5F (F28) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
S~ 3 | BNEH 1:01.4 1-1 371 - 1 576 | BIISHE dUEE)
1/5|5| E-E—F2T %.0 oy o) | s
R:DJ—)VRI—X H:AUETFYOIVR IRRBUS
o H o3 | EEE 1:02.5 4-2 7.8 - 3 | 468 |EREZ (EE)
2 6 7 —A 56.0 (5) *2) (E)EEWEL
RiALVAVHLYY Bihy UTo SH XF
— 3,1~ 4t 3 | BEXKX 1:02.6 3-2 38.0| — 2 4530 |N\EFT dumE)
3|8[10| B=¥TYY 54.0 zE) o) |EEERm
R:IVI—FEa—h B:OVI—UTFI 709 T7—L
\ = BHFE :02. - . - EARME (tsE)
N - BEIEEIEZS R RO I NI
R:FHVPIYTTRY B:VIF—LDyR =805
= = — 0 LA AR :02. - . - MEXE (e
5 4| AT VIZN=R ®A4TED (11 012/28) 12 -4 ° ?368) B%EE h
ALY IAVIR—5— B:TAUPLER Wz 7—L4
= s 3 | IRTFHEHE 1:03.5 4-5 38.6 — 6 398 | RREHAB) (LiEE)
6 2 | BB=EY 54.0 3) m)(Wwa;
RiA—yYvVT)I— BVEVAIO— ARAIWT7—L
o3, st 4 | Aot 1:03.7 8-8 37.6| — 8 40 |EEER dumE)
71721 7|/ \=0>F7« 54.0 m *2) (ﬁ)49nu?—xvy757
R:TJ—JLRI—R B:~NN=XbhDovay =T e
— R 4 3 | ATEZE 1:03.8 6-7 38.2| — 7 464 | HEHIEE (JLEE)
gl111|P~¥Y—1voEYIY 56.0 /2 () | EAERE
RidrU—N—R B:HYI—YTA(TR RI—TF7—LI
M) H— # 4 | EEES 1:05.5 9-9 38.8| - 9 48 | BORE (OtmE)
9|78 |FvP—/aX 54.0 @) ) |RBEF n
RYLSAN—k B:FAFIVY— [z =]
= P BREE - - - - - ASE— (s
«| 8|9 | FEF/TAF— 7R (51 (4362) KA "
RNUAMTAF— BFEF/ Y00V WESYR ISR /N—
@ 11— —BERIEI
13—7F—
20—F—
Ia=7r= (4,5),10,(2,6),(1,3),7,8
40—7F— 5,(4,6,10),2,3,1,7,8
0 ILRE
BB 5 1000 | | 914K 5-6 1709 & 5-6 370 3ER 5-6-10 430
B B 5 1004 5-10 130M o 18 5-6 450 3Es 5-6-10 810M
6 1909 6-10 270 oS- 1 5-6 370
10 140/

ABIC OV TRUTEREERRODDZE. THRIIZEL.




